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ECONOMICS
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

1. Marshallian Theory of consumer’s 4.  Consider the following statements :
behaviour is based on (i) When MC curve is below the
(A) Hypothesis of additive utilities. AC curve, then the AC curve

must be rising.
(B) Hpypothesis of independent £

utilities. (i)  When MC curve is above AC
curve, then AC curve must be

(C) Both (A) and (B). falling.

(D) Weak ordering. (ii1)) MC curve intersects AC curve
at the point where AC is
constant.

2.  Consider the following statements : Which of the above statement(s)

(i) Income effect is positive in is/are correct ?

case of normal goods. (A) (iii) only
(i) Income effect is zero in the (B) (1) and (ii)
case of superior goods. (C) (i), (ii) and (iii)
(ii1)) All Giffen goods are inferior (D) (i) and (iii)

goods, but not all inferior

goods are Giffen goods. ‘ ‘ o
5. With which of the following is the

(iv) Income effect is negative in doctrine of excess capacity in the
case of inferior goods. long run not associated ?

Which of the above is /are correct ? (A) Monopoly

(A) (i) only (B)  Oligopoly

(B) (ii) only (C) Monopolistic competition

©) (i) & (iv) (D) Perfect competition

(D) (1), (ii1) and (iv)
6. To derive the demand curve for a
firm for one of the several variable

3. A profit maximising firm will stop factors, the following must be
production in the short run if price is considered :

(A) The external effect of the
change in the factor price

(B) The internal effect of the
change in factor price

(C) Iless than the average total cost (C) Monopolistic exploitation

(D) equal to the average total cost (D) Monopsonistic exploitation
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(A) less than the average variable
cost

(B) less than the marginal cost
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In an Edgeworth production box, the

only  possible  positions of

equilibrium is

(A) the isoquants are tangent to
one another

(B) the isoquants intersect each
other

(C) the marginal products of the
inputs are equal

(D) both (B) and (C)

In case of Keynes’ Psychological
Law of Consumption Function, which
one of the following statements is
incorrect ?

(A) As disposal income increases,
consumption also increases,
but less than proportionately.

(B) Marginal propensity to
consume is positive but less
than unity.

(C) As disposable income increases,
average propensity to consume
falls, and vice versa.

(D) Average propensity to
consume equals marginal
propensity to consume at all
levels of income.

Which one of the following
statements in case of balanced
budget multiplier is incorrect ?

(A) The value of balanced budget
multiplier is unity in case of
autonomous taxes.

(B) The value of balanced budget
multiplier is less than unity in
case of proportional taxes.

(C) The value of balanced budget
multiplier is always unity no
matter whether the taxes are
autonomous or proportional.

(D) The value of Government
expenditure multiplier is more
than the wvalue of tax
multiplier.

10.

Consider following statements :

1. Credit creation varies inversely
with Cash Reserve Ratio
(CRR).

2. Credit creation varies
positively with Cash Reserve
Ratio (CRR).

3. Bond price and interest rate are
inversely related.

4.  Bond price and interest rate are
positively related.

Which of the above statements is
correct ?

(A) land3 (B) land4
(C) 2and3 (D) 2and4

Given that C = Currency with the
publicc, DD = Demand Deposits,
TD = Time Deposits and R = Cash
balances with the Commercial
Banks, then high powered money is
defined as

(A) C+DD
(B) C+R
(C) C+TD

(D) C+DD+TD

The premise that there exists inverse
relationship between money wage
inflation and unemployment was
originally given by

(A) A.W. Phillips
(B) Milton Friedman
(C) Philip Cagan
(D) Robert Lucas

Based on accelerated-multiplier
interaction, whose theory of trade
cycles generates constrained cycles ?

(A) Hicks (B) Kaldor
(C) Samuelson (D) Baumol
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14. Which of the following statements is 18. Which one of the following is not an
incorrect ? instrument of fiscal policy ?
(A) Monetary Policy is relatively (A) Public Revenue
ineffective, when the interest ‘ ‘
elasticity of investment is low (B)  Public Expenditure
(IS curve is steep) (C) Public Borrowing
(B) Monetary Policy is relatively )
ineffective, when the interest (D)  Cash Reserve Ratio
elasticity of demand for money
is high (LM curve is flat)
. . . . 19. Who is Director General of WTO ?
(C) Fiscal policy is relatively
ineffective, when  interest (A) Alan Greenspan
elasticity of demand for money
is low (LM curve is steep) (B) Lamy Pascal
(D) Fiscal policy is ineffective, (©)  William Diamond
yvhen interqst rate elasticity qf (D) Eugine Black
investment is low (IS curve is
steep)
20. The role of the State wunder
15. The practices of transfer pricing in globalization is
the open economy is resorted to by (A) zero (B) maximum
(A) Mutual Funds .
L (C) minimum (D) neutral
(B) Institutional Investors
(C) Multinational Corporations
(D) Private Banks 21. Which one of the following is the
most important source of revenue of
State Governments in India ?
16. The warranted rate of growth as
defined in Harrod’s Model is (A) Land Revenue
S/ (B) Sales Tax
A Ip
(C) Stamps and Registration Fees
S
(B) y (D) State Excise Duties
1
© % o .
22. Equity in Taxation can best be
(D) none of the above achieved by applying the principle of
(A) Equal Absolute Sacrifice
17. The Human Development Index was .
first developed by (B)  Benefit
(A) UNDP (B) IMF (C) Equal Marginal Sacrifice
(C) UNICEF (D) UNCTAD (D) Equal Proportional Sacrifice
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23. Which of the following is correct Note : In the following Question No. 27,
measurement of fiscal deficit in there are two statements, one is
India ? Assertion (A) and the other
(A) Excess of total revenue Reason (R). You have to examine

expenditure over total revenue these carefully and select ‘the
receipts. Enfwer from the codes given
elow :

(B) Excess of total exp © nditure 27. Assertion (A) Indirect  taxes
over total revenue receipts plus . o .
non-debt capital receipts. P Fon.lOte. 1nqua11t1es in  the

‘ distribution of income.

(C) Excess of tgtal expenditure Reason (R) The poor bear
over total receipts. more burden of indirect taxes.

(D) Excess of total expenditure Codes :
over total interest payments. (A) (A) is true but (R) is false.

(B) Both (A) and (R) are true and

24. Marginal cost of a pure public good (R) is the correct explanation
is of (A).

(A) zero or close to zero (C) (A) is false but (R) is true.

(B) one (D) Both (A) and (R) are false.

(© (A)and (B) both 28. Factor Endowment Theory of

(D) very high International Trade is given by

(A) Heckscher-Ohlin

25.  Which of the following is not one of (B) Haberler
the objectives of the tax reforms in (C) Raul Prebisch
India ? (D) Jagdish Bhagwati
(A) Reduction in multiplicity of

custom duty rates 29. The concept of single factoral and

(B) Improving tax compliance double factoral terms of trade have

(C) Widening the tax-base been given by

(D) Suggesting ways to increase (A) Haberler'
the share of indirect taxes in (B) Jacob Viner
total tax revenue (C) Snider

(D) Scammel

26. An excise duty is fully borne by the
buyers, when price elasticity of 30. The _equation  of foreign trade
demand for the product is multiplier is
A) o (A) Rupee — Dollar Ratio
B) 0 (B) mpm + mps

(C) Tax — GDP Ratio
©) 1 |

(D) between 1 and o< (D) mpm + mps
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27.

28.

29.

30.
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STTYROY fohd Ufaaied =t 2
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(B) mpm + mps

(C) =T — Fhel W] IR AU

1

D) ———
pm + mps
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31. Trade Policy Reforms in India 35. Match list — I with list — IT and select
include the answer from the codes given
o below :
(A) disinvestment List — I List — II
(B) lowering of custom duties (a) Total area 1. B;=0
under
(C) increasing SLR normal curve
(D) reduction in direct and indirect (b) Square of 2.1
standard
taxes .
deviation
(c) Symmetric 3. £x100
‘ ‘ o distribution X
32. Which of the following countries is a (d) Co-efficient 4. variance
member of the ASEAN Group ? of variation
(A) China (B) India Codes :
(@ () (© ()
(C) SriLanka (D) Thailand A) 3 4 1 2
B) 2 4 1 3
©) 4 1 2 3
33. The meeting of G-20 in 2009 was D) 1 o) 3 4
held at
(A) London 36. The area between —3 and +3 under
_ standard normal curve is
(B)  Paris A) 1 (B) 0.9973
(C) Geneva (C) 0.95 (D) 0.6826
(D) New Delhi 37. If the co-efficient of determination is
0.12 and one of the regression co-
efficients is 0.3 ; what is the value of
34. From a bag containing 6 red, 4 green the other regression co-efficient ?
and 5 black balls, one ball is drawn (A) 04 (B) 0.36
at random, find the probability that it (©) 0.9 (D) 0.15
is either red or green.
6C, +4C, 38. For a large sample, 6, = 2,1, = 0.8
(A) ISC1 the standard error of bxy.
(A 1.1 B) 2.1
®) = ©) 12 (D) 1.6
15
4 39. The mean and variance of a standard
(© 15 normal variate respectively
6 A s (A) 0,0 B) 0,1
(D) °Cx"Cyx PC, ©) 1,0 D) 1,2
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31.

32.

33.

34.

IRA § AR Afq = guRl |

T €

(A) fafEer

(B) T I[oohl ol W AT

(C) TAUAR. (Tifaus  aerar
) A P

(D) VT Ua T A | HHT

fifrd & @ w9 W Sw SR

(ASEAN) §%g ol G5 & ?

(A) =i (B) A

(C) st (D) emers
G-20 T 2009 T T Fel AT
fepa T 2

(A) o= (B) uRw

(C) SHam (D) =% feeett

6 WA, 4 B 3R 5 el 7T W It §
T TF 75 AGSH & F Hhredt ST & |
Tg g OTCT AT &4 & TH T Tt WIFhel
T HITTT |
6C, +4C,

ISCI

(A)

6
®) 135

4
© 15

(D) oC, x4C, x5,

35.

36.

37.

38.

39.

gaA-1 1 gEt-11 | e Sifse qor 9=

U il | IR 1 TI HiT
-1 en-11
(a) W= 56 6 I B,=0
ST et & B

(b) v e w2, 1
() W fan 3 X100

(d) To=rer ot 4. YEOT
S :
@ @ © @
A 3 4 1 2
@ 2 4 1 3
© 4 1 2 3
@ 1 2 3 4

e | o5k & 3faiid — 3 31K + 3
o &g &

(A) 1
(C) 0.95

(B) 0.9973
(D) 0.6826

Ifg fAuRer TEiE 0.2 ¥ AR TR
FATTE T 0.3 ¥, A SE WOTE

TOTh T Hod T § ?
(A) 0.4 (B) 0.36
(C) 0.9 (D) 0.15

TF g Wi H 6, = 2,1, = 0.8 7l

b,., 1 #F e et
(A) 11 (B) 2.1
(©) 1.2 (D) 1.6

A TEMHRT T % AT S ST
FHE:

(A) 0,0 B) 0,1

© 1,0 D) 1,2
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40.

41.

42,

43.

44.

The algebraic sum of deviations of a
given set of observations from their
arithmetic mean is

(A) o B) 1

<G -1 D) 0

Unbalanced regional growth in India
is due to

(A) unequal budgetary support by
Central Government to
different States

(B) spatial
industries

distribution of

(C) inadequate development
infrastructure in some States

(D) all of above

In HDI, which one of the following
is not taken as an indicator ?

(A) Life expectancy
(B) Literacy
(C) GDP per capita

(D) Per capita food consumption

The Union Budget is presented
under which Article of the
Constitution in India ?

(A) 110 B) 111
©) 112 D) 122

Financial Sector reforms in India
consist of

(A) Lowering down of CRR and
SLR

(B) Entry of private firms in
insurance sector

(C) Deregulation of rate of interest
(D) All of the above

Latest Sarkari Jobs, Govt Exam Results
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45.

46.

47.

New Agricultural strategy has

(A) widened the gap between the
rich and the poor farmers

(B) increased production of only
few crops

(C) led to an increase in regional
disparities

(D) all of the above

Match the list — I with the list — II
and select the answer from the codes
given below :

List-I List-1I
(a) Theoryof  (I) Harvey
big push Leibenstein
(b) Unlimited  (II) Lewis
supply of
labour
(c) Trade as an (III) Emery
engine of
growth
(d) The (IV) Kuznets
concept of
economic
growth

@ @G © @
A) IV 1 1T 1
B) 1 n 1 IV
C© m m IV I
M m v I 1

If the accommodating capital is zero
in the balance of payments of a
country, there will be

(A) equilibrium in the balance of

payments.

(B) disequilibrium in the balance
of payments.

(C) deficit in the balance of

payments.

(D) surplus in the balance of
payments.



40.

41.

42,

43.

44.

&0 QW= % URI I, I ORI
T ¥ fererett ot ST e &

(A) e B) 1
<G -1 D) 0

IR § Jig H &51F ST T HROT E

(A) T TSI BT BT TWHR FRT
STHAM ST T |

(B) f=ifr  shmE w1 e
ToreRoT |

(C) FB T § HH [
EIERIGECI

(D) oo |l |

TAifeR W & I |1 Hehersh AT forehrd

Y | T forar mn g ?

(A)  Siter yearem

(B) Ui TTeRAT

(C) Wid =afekT Fehet Te] SR

(D) Wid Ao @RI USTT ST STHRT

YR e & fohe orgesg & 3icia
g o ueT foRa ST ® 2

(A) 110 (B) 111

(€) 112 (D) 122

IR ¥ ol &7 o GuRT § gHIiee &
(A) SRR, T TE.UA3R.
HH HET |

(B) ST & T TT T BT T |
(C) =TT & I Toaram |
(D) 3ot T |

45.

46.

47.

I FrEt T I 7

(A) & Ud 7 Wetell o S 3iaRTe
o1 forege fopan & |

(B) aeT FS & ®HAl & IR H
FFHE |

(C) &g fammarei H gfg w1 e |

(D) oo |l |
-1 1 geli-11 & |1 Her= S 3R
e U el 9 SR &1 T3 iU :
Tt-1 en-11

(a) eRtdwfar () ed

g9 GICESE)
(®) ::Q R .
(d) e wafs

T (IV) Tz
HIE

@ b © @
(A) IV I 1o 1
@ 1 1 m IV
© I m IV I
M) M Iv 1 1

g I Ok PR I H
(THHTETET) OST g €,

(A)  TIH 9 | T e |

(B) T ¥ ¥ ST & |

(C) T 91 H el &1 |

(D) A 91 H AeReh & |
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Note : Read the passage given below and

answer questions from 48 to 50, on
the basis of the passage :

The 1990s were the best years for
India as far as GDP growth is
concerned. This is evident from the
data provided by the annual
Economic Survey of the Government
of India. For the decade up to 2001,
real GDP at factor cost grew at 6.1
per cent and per capita GDP at 4 per
cent. This is certainly an
improvement over that obstinate
3.5 per cent ‘Hindu rate of growth’
that dogged our fortunes right up to
the end of the 1970s : for the period
1950-51 to 1980-81 the average rate
of growth of GDP was 3.5 per cent
and that of GDP per capita, hardly
1.5 per cent. In fact, for the decade
up to 1981, per capita GDP grew at
only 0.8 per cent. There is no doubt
that in terms of growth, India is
doing much better now than ever
before.

However, improved growth
performance  has not  been
accompanied by improved

employment generation. On the
contrary, the growth rate of
employment fell sharply in the
1990s. Using National Sample
Survey (NSS) data, while for the
period 1983 to 1993-94, employment
grew at 2.72 per cent per annum, the
corresponding figure for the period
1993-94 to 1999-2000 was only
1.02. This sharp drop in employment
growth led to am increase in
unemployment from 20 million in
1993-94 to nearly 27 million in
1999-2000.

48.

49.

50.

For the decade upto 1981, the
average growth rate of GDP per

capita was

(A) 4.0 per cent
(B) 3.5 per cent
(C) 0.8 per cent

(D) 2.0 per cent

The growth in real GDP at factor
cost and per capita GDP, for the
decade upto 2001,

(A) was less than that for the
decade upto 1981

(B) was less than that for the
decade upto 1970

(C) was more than that for the
period between 1950-51 to
1980-81

(D) none of the above

Employment growth rate for the
period 1993-94 to 1999-2000

(A) did not reflect the higher GDP
growth during this period

(B) was
employment growth for the
period 1983 to 1993-94

lower than the

(C) (A) and (B) both

(D) none of the above
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e : A fear aftess ufgu 3R 5ok 3R W

U9 G=T 48 I U GAT 50 TF o I

e

ST e Sl g 1 e & 1990 %
T F I URA & W IS 4 | T
TRAT TWHR & aideh 3Mfoeh aeor
FRT UeH fohu el & @ & | 2001
TH h IIF (oW, FET AN W
ardtess STELdl. § 6.1 Ui ¥ SR
wid =afdd STELW. # 4 ufaee ¥ gty
T | I 3.5 Ul IRl Wghg @i
feg 3¢, T8 1970 & S91%k & faogper
3T T THR UYad i 3a6g @, T
ffed w7 T QIR 2 : 1950-51 & 1980~
81 T H @Y % forw SIS, Hf
Tt =t 3G 3T 3.5 wiaed ot iR ufq
e SLELd, gea ¥ 1.5 dfaerd |
IrEad H, 1981 % & I & oW, Uld
e ST, 9% 0.8 viaera § =@l |
T g g Tél & T Tl o gy 1,
TR Uget § ST 3o Y E1E |

qety, 31 Ggtg e & |-
Y ISR GoiT 31 &l g3 | T4
fauRid, 1990 % 3k | ISTIR i Halg
T ol & I | A9ret ¥met |49 (NSS)
% 3Rl o STER, STafh 1983 ¥ 1993-
94 T I 3TETY & foIT, ISR Ui a9
2.72 gia9Td 9 ST, 1993-94 | 1999-
2000 @ I @Y & folU GHedr 36
A 1.02 o1 | ISR GIfE H 39 ae
TRTae = SUSTIRT i 9T i 1993-94 |
20 AT & 1999-2000 7 27 o=
RERCCRECIM

48.

49.

50.

1981 T < T3k o ToIU, U Ao Hehel
T ICUTE h ST Ggfeg hi 3T

(A) 4.0 ufaeTd
(B) 3.5 wfqerd
(C) 0.8 Ut
(D) 2.0 HfqeTd

2001 T o T o [T, HET AR T
Ao et BRe] SedTs STR Wi SAferd

Hehel Hle] SIS

(A) 1981 d% & I & (oW ST o1
IEEF AT |

(B) 1970 T % I o Told ST o
IEEFAT |

(C) 1950-51 | 1980-81 & o9 &
HTeT o ToTT ST 1 3Q ST 47 |

(D) SYgE | T HIE @l |

1993-94 & 1999-2000 ek &l 37aY
foTu TSR ey

(A) TH 3G o IR Fohel Te] IR
A e 3= gfg X A T
T |

(B) 1983 ¥ 1993-94 T = 3@ &
foTu TSR Hagfeg T e ot |

(C©) (A) R (B) T |
(D) SYgE A RIS @l |
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